value

2.5-

20-

15-

1.0-

PC.aa.C40.4

F trimmed-means(3.56,791.08) =, p = NA, SAKP =0.18, Clgsy, [-0.08, 0.45], nyqs = 371

R-avg

P Bonferroni—corrected = 2.73€—05

P Bonferroni-corrected = 3-44€—05 I

P Bonferroni-corrected = 0.004

P Bonferroni-corrected = 1.77e-05

P Bonferroni-corrected = 0.000104

pBolnferroni—corrected =0.003

4

ﬁtrmmed =130

agleo aglel
(n=371) (n=187)

Pairwise test:

atrimmed =147

agle2
(n=52)
age

Yuen's trimmed means test

ﬁtrimmed =134

ﬁtrimmed =1.52

agle3 agle4
(n=207) (n=207)

; Comparisons shown: only significant
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